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$\text{Dijkstra}$ OO0 00O

00000 $0(m\log m)$[]

template <typename T>
struct dijkstra
T dis[MAXN];
bool vis[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

=q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis/i/=Inf;
disisrc|=0;
g.push(make pair(disisrc|,src));
lq.empty
pair<T,int> temp=q.top();q.pop();
int u=temp.second;
vis|u
vis|u|=true;
int i=head/ul;i;i=edge|i].next
int v=edgeli].to;
dis|v/>edge|i]|.w+dis|u
dis|[v|=edge|i]|.w+dis|u];
g.push(make pair(disiv!,v));
ool
00 pld62
oo
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00000000 $text{dikstra}$ 00 0000000000000 0O00OD0O0OODOODOO0OOOODO
gbobogoboooooo

OO0O000d $0(n\log m\log v)$

const int MAXN=1e4+5,MAXM=5e4+5,Inf=2e9;
struct Edge
int to,w,next;
edge [ MAXM<<1];
int head[MAXN|,edge cnt,val/MAXN|, limit;
void Insert(int u,int v,int w
edge|++edge cnt|.next=head|u];
edge|edge cnt].to=v;edgeledge cnt!.w=w;
head|u/=edge cnt;

template <typename T>
struct dijkstra
T dis[MAXN];
bool vis[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

=q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis[i|=Inf;
dis|src|=0;
g.push(make pair(dis|srcl,src));
Iq.empty

pair<T,int> temp=q.top();q.pop();
int u=temp.second;
vis|u
vis|ul=true;
int i=head(u];i;i=edge[i].next
int v=edge(i].to;

val v/ >limit
dis|v/>edge|i].w+dis|u
dis|v/=edge[i|.w+dis|u];
g.push(make pair(dis|v],v));

https://wiki.cvbbacm.com/ Printed on 2023/09/04 06:08



2023/09/04 06:08

3/28

o001

dijkstra<LL> dj;
int main
int n=read int(),m=read int(),b=read int
_rep(i,1,n
val|il=read int();
lef=min(vallil,lef);
rig=max(vallil,rig);

m__
u=read int(),v=read int
Insert(u,v,w);
Insert(v,u,w);

,w=read_int

int mid,ans=-1;
lef<=rig
mid=lef+rig>>1;
limit=mid;
dj.solve(l,n);
dj.dis[nl<=b
ans=mid;
rig=mid-1;

lef=mid+1;

ans>=
enter(ans);

puts ("AFK");

’
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oooooo@oo)lo
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gobogobooobobooon

1. $[x,yl\to [x+1,yl(x\It y)$
2. $[x,yI\to [x,y-11(x\It y)$

3. $[x,yl\to [x-1,yl(x\gt 1)$
4. $[x,yI\to [x,y+1](y\lt n)$

,u,v,w,lef=Inf, rig=0;

.
’
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0000000000000 0000 $[L,n$s00000 $IxxI(WN\tx\tn)$f0O0DOOO0O
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const int MAXN= * ;

const LL Inf=1el2;

struct Edge
int to,w,next;

edge [ MAXN<<1];

int head MAXN]|,edge cnt;

void Insert(int u,int v,int w
edge|++edge cnt|=Edge{v,w,head/ul };
head|u/=edge cnt;

template <typename T>
struct dijkstra
T dis[MAXN];
bool vis[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

=q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis[i|=Inf;
dis|src|=0;
g.push(make pair(dis|srcl,src));
Iq.empty

pair<T,int> temp=q.top();q.pop();
int u=temp.second;
vis|u
vis|ul=true;
int i=head(u];i;i=edge[i].next
int v=edge(i].to;
dis/v/>edge/i|.w+dis|u
dis|v/=edge[i|.w+dis|u/;
g.push(make pair(dis|v],v));
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dijkstra<LL> solver;

int n,m;

int Id(int r,int c r-1)*(n-1)+c;
int main

n=read _int(),m=read int();
int s=Id(n-1,n-1)+1,t=s+1;
int r,c,w,idl1,id2;char d;
m_ =
c=read int(),r=read int(),d=get char
idl=Id(r-1,c);
=="'L"
==
id2=t;

id2=Id(r,c);

C==
id2=s;

id2=Id(r-1,c-1);
Insert(idl,id2,w) ;Insert(id2,idl,w);

solver.solve(s,t);
solver.dis|t]==Inf
puts("-1");

enter(solver.dis|[t]);

?

ooooooon

$\text{SPFA}s 00O O

0000000 $O(Km)$fOOoODOO0 $0(nm)s$

template <typename T>
struct SPFA
T dis[MAXN];
int len[MAXN];
bool inque|MAXN];
bool solve(int src,int n
queue<int>q;
mem(inque,O);mem(len,0);
_rep(i,1,n

,w=read_int
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dis/i/=Inf;
disisrc|=0;len[srcl|=1;
g.push(src);
inquel/src|=true;
'q.empty
int u=q.front();q.pop();
inquelu/=false;
int i=head|u];i;i=edgei].next
int v=edgel|i|.to;
dis|v|>dis|u/+edge|i].w
dis|[v]|=dis|ul+edge[i].w;
len|vi=lenlul+1;
len|[v/>n
false;
linquelv
g.push(v);
inquel|v|=true;

true;

HEN

0 0 p5960

od

000 $$\left \{ \begin{array}{l} x {al}-x {b1}\ley 1\ x {a2}-x {b2}\ley 2\\\cdots\\ x_{am}-
x_{bm}\ley m\end{array} \right. $$

ERN

O $x j-xNley$ DDODODO $x \lex i+y$0 000000000000 DOODO $\text{dist} j\le
\text{dist} i+\text{w} {i\toj}$ 000

00000000 $x0$0$x 0$ 000000 0ODODO0OOSS(OODO000ODOO0DO0D0ODOODO0OOD
O00obOo0oOooboooy)yoooo

0000000000000 $x_i=\text{dist} i+k$ 00O OOODOOOOO

const int MAXN=1e4+5,MAXM=5e5+5,Inf=1e9;
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struct Edge
int to,w,next;

edge [ MAXM<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v,int w
edge|++edge cnt].next=head|u];
edge|edge cnt].to=v;edgeledge cnt!.w=w;
head|u!=edge cnt;

template <typename T>
struct SPFA
T dis[MAXN];
int len|[MAXN];
bool inque!MAXN];
bool solve(int src,int n

queue<int>q;
mem(inque,©);mem(len,0);
_rep(i,1,n
dis[i|=Inf;
dis|src|=0;len[srcl|=1;
g.push(src);
inquelsrc|=true;
Iq.empty

int u=q.front();q.pop();
inque/u/=false;
int i=head|u];i;i=edge[i].next
int v=edgel|i].to;
dis|[v|>dis|ul+edgeli].w
dis|v/=dis|ul/+edge|i] .w;
len/vi=lenlul+1;
len{vi>n
false;
linque|v
g.push(v);
inque|v|=true;

true;

SPFA<int> spfa;
int main

int n=read int(),m=read int(),u,v,w;
_rep(i,1,n)Insert(n+l,1,0);
m--
u=read int(),v=read int(),w=read int();
Insert(v,u,w);
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spfa.solve(n+1,n+
_rep(i,1,n
i>1)putchar(' ');
write(spfa.dis[i]);

puts("NO");

’

guoooooobod

$\text{Floyd}$ 0O OO

00000 $0(n™3)$00 000000

int n,dis[MAXN]| MAXN];

void Floyd
_for(i,0,n
_for(j,0,n
dis[il[jl=
_for(i,o0,
dis[i][1i c
_for(k,0,
_for(i,0,
_for(j,0,n
dis[i|[jl=min(dis|i![j],dis[i| ki+dis(kI[]j]);

Inf;

Il >

n
n

0d
00plll9
oo

OO0 $n$0000$m$ 00000O0O0O0O0O $tis0 000000 (@O $tisnO)Ho

$q$ 000000000 $t$ 00 $dis(i,j)spoCoon sts00O0
RN

00 $\text{Floyd}$ 0000000 $\text{dp}$Q
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const int MAXN= +5,Inf=1e9;
int dis[MAXN] [MAXN|, t[MAXN];
int main

int n=read int(),m=read int(),u,v,w;

_for(i,0,n

tiil=read int();

_for(i,0,n

_for(j,0,n

dis/il[j!l=

m__

u=read _int(),v=read int(),w=read int();
dis{ul[v]=dis|v] ul=w;

_for(i,0,n
dis[i]|[1]=0;
int g=read int(),pos=0,temp;
q__
u=read int(),v=read int(),temp=read int();
t[pos|<=temp&&pos<n

_for(i,0,n

_for(j,0,n

dis{i![jl=min(dis|i][j!,dis[i][pos /+dis|[pos]|(j!);
pos++;

tiul>temp||tivi>temp||dis|u] v ==Inf
enter(-1);

enter(disiullv]);

$\text{Johnson}$ 0 00O

0 0 p5905
00000000000 OO000DooDOo0ooO ssonooan

000 $\text{SPFA}$J0 0000000 DODOOO0OODOOOOOOOOOOO $h.isn
00000000000 $w+h u-h v$00O0OO0OO00O0O $s\tot$s 0000

\begin{equation}(w_{s,p1}+h s-h {pl})+(w _{pl,p2}+h {pl}-h {p2})+\cdots+(w_{pk,t}+h {pk}-
h t)=w_{s,pl}+w {pl,p2}+\cdots+w_{pk,t}+h s-h t\end{equation}
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00000 $\text{SPFA}$ 0 OO 0O $h wWe h u+w _{u,v}$00 $w_{u,v}+h u-h v\ge 0$[]
O000D000000000000 $n$ O $\text{Dijkstra}$ 00000000

OO0O000d $O(nmlogm)$C 00000

const int MAXN=3e3+5,MAXM=9e3+5,Inf=1e9;
struct Edge
int to,w,next;
edge [ MAXM| ;
int head MAXN]|,edge cnt;
void Insert(int u,int v,int w
edge|++edge cnt|.next=head|u];
edge|edge cnt].to=v;edgeledge cnt!.w=w;
head|u|=edge cnt;

template <typename T>
struct SPFA
T dis[MAXN];
int len|[MAXN];
bool inque|[MAXN!;
bool solve(int src,int n

queue<int>q;
mem(inque,0);mem(len,0);
_rep(i,1,n
dis|[i|=Inf;
dis|[src|=0;1len|srcl=1;
g.push(src);
inquelsrc|=true;
Iq.empty

int u=q.front();q.pop();
inquelu =false;
int i=head|u];i;i=edge[i].next
int v=edgel[i].to;
dis|[v]|>dis|u/+edge[i].w
dis|/v/=dis/ul+edgeli] .w;
len(vi=lenlul+1;
lenlvi>n
false;
linquelv
g.push(v);
inquelv =true;

true;
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template <typename T>
struct dijkstra
T dis|[MAXN];
bool vis[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

>q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis[i]|=Inf;
dis|src|=0;
g.push(make pair(dis|srcl,src));
Iqg.empty

pair<T,int> temp=q.top();q.pop();
int u=temp.second;
vis|u
vis|ul|=true;
int i=head|u];1i;i=edge[i].next
int v=edgel|i|.to;
dis/v/>edge/i|.w+dis|u
dis|vi/=edge[i|.w+dis|u];
g.push(make pair(dis|v],v));

SPFA<int> spfa;
dijkstra<int> dj;
int main

int n=read int(),m=read int(),u,v,w;
_for(i,0,m
u=read int(),v=read int(),w=read int();
Insert(u,v,w);

_rep(i,1,n
Insert(n+1,i,0);
Ispfa.solve(n+l,n+
puts("-1");

’

_rep(u,l,n
int i=head/ul;i;i=edgeli].next
int v=edgeli].to;
edge|i|.w+=spfa.dis|ul-spfa.dis|v];
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_rep(i,1,n
LL ans=0;
dj.solve(i,n);
_rep(j,1,n dj.dis[j|!=Inf
dj.dis|[j|-=spfa.dis|[i]-spfa.dis|[j];
_rep j' N
ans+=1LL*j*dj.dis[j];
enter(ans);

goon

ogo
UVAl4l6
ERN

OO0 $n$000$M$ 000000 $c$0000000DO0O00O0O0O0O0O0O
00000000000 $c$0000@O 0000000000 $L%)

O0O00 $n\le 100,m\le 1000,L\le 10"8$%
oo

00000 $\text{Dikstra}$ OO0 OO O0O0O0DO0OOCOOODOOO
gobogoboodbobooobbooobboooono

000000000000 $\text{Dikstra}$ 000000000000 0ODOO0O00ODOOOOOOD
ugd

gobooobooooobooon

00000000000 $n-1$00000000000 $n-1$ O $\text{Dijkstra}$[

00000 $0(n™2m\log m)$[]

const int MAXN= , MAXM= ,Inf=1e9;
struct Edge
int from,to,w,next;
edge [ MAXM<<1];
int head MAXN|,edge cnt;
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void Insert(int u,int v,int w
edge|++edge cnt|.next=head|u];
edgeledge cnt].from=u;edgeledge cnt|.to=v;edgeledge cnt!.w=w;
head|u/=edge cnt;

template <typename T>
struct dijkstra
T dis[MAXN];
int p[MAXN];
bool vis[MAXN/;
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

>q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis|i|=Inf;
dis[src|=0;
g.push(make pair(dis|srcl,src));
Iq.empty

pair<T,int> temp=q.top();q.pop
int u=temp.second;
vis|u

.
’

vis|ul|=true;

int i=head/u];i;i=edgel|i].next
edge/i].w<

int v=edgel[i].to;
dis|v/>edge|i]|.w+dis|u
dis|vi/=edge[i|.w+dis|u];
plv]=i;
g.push(make pair(dis|v/,v

’

dijkstra<int> dj;
vector<int> edge w/MAXN||[MAXN!;
bool tree edge|[MAXN| MAXN| MAXN!;
int edge id|/MAXN| MAXN];
LL dis sum[MAXN];
int n,m,L;
LL get ansl
LL ans=0;
_rep(i,1,n
dis sum|[1i|=0;
dj.solve(i,n);
_rep(j,l,n
i==]

’
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int u=edge!dj.plj
tree edgelil[u

.from,v=edgeldj.pl]

vi=tree edgelil|(v||ul=true;

dis sum|i/+=dj.dis|[j|==Inf?L:dj.dis[j;

ans+=dis sum/[i];
ans;

LL get ans2(int u,int v
LL ans=0;
_rep(i,1,n
ltree edgeli
ans+=dis sum|i];

u v

dj.solve(i,n);
_rep(j,1,n

ans+=dj.dis|j|==Inf?L:dj.dis[j];

ans;

int main

~scanf ( "%sd%d%sd" ,&n, &m, &L
edge cnt=0;mem(head,0);
mem(tree edge,0);

_rep(i,1,n
_rep(j,1,n
edge wl[i][j].clear();
int u,v,w;
m--
u=read _int();v=read int();w=read int();
edge w/ul[v]|.push back(w);edge wlv
_rep(i,1,n

_rep(j,i+l,n
edge w(i|[jl.size
sort(edge wiil![j|.begin
Insert(i,j,edge wiill]j
Insert(j,i,edge wiil|[j

LL cl1,c2;
cl=c2=get _ansl();
_rep(i,1,n
_rep(j,i+l,n

edge w(i|[jl.size

,edge wlil[j
;edge id[1
;edge id|j

.to;

ul.push back(w);

.end :

j |=edge cnt;
i|=edge cnt;

edgeledge id[i|[j!|.w=edgeledge id[j|/i]]|.w=edge wl/i|[j!.size()>17edge w|i

J T4,
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c2=max(c2,get ans2(i,j));
edgeledge id[i|[j!|.w=edgeledge id[j|[i]].w=edge wl(i][] ;

space(cl);enter(c2);

ooon

goooboobo

ug

00000 suw$00000000000O0O000D sw$0ooooogog

0000 %e$000000000000O0O0O0OO %$e$000000ODO
good

00 $\text{dfs}$ 00 0000000000000 O00O0OO0ODO0O0ODOOOOOOOOO0OOOOOO
dddddoooooouuouoo

O $\text{low}(u)$ O $u$ 0000000 $usd%faus 00000 OO0OOOOO $\text{pre}$s 00

OO0 su$s 0000000 $u$s 00000 $us 0000000000 $u$0000000O0O su$00O
0000 $v$ OO0 $\text{low}(v)\ge \text{dfs_id}(u)$[]

0000000 $\text{low}(v)\gt \text{dfs_id}(u)$00 $(u,v)$ 00O 0O

000 $\text{dfs}$ 000000 $\text{low}$ 0000000000 DO0OOOODOOOOOOOOO
O0O0O0O0oo0 $0(n+m)s$0

int low|[MAXN!,dfs id[MAXN|,dfs t;
bool iscut[MAXN];
void dfs(int u,int fa
low/ u!=dfs id|u|=++dfs t;
int child=0;
int i=head|u];i;i=edge[i].next
int v=edgel[i].to;
v==Ffa E
ldfs_id[v]){/0000O
dfs(v,u);
low ul=min(low/ul,low|[Vv]);
low|v|>=dfs idlu|&&u'!=fa
iscut|ul=true;
child++;
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low/ul=min(low/ul,dfs id[v!);/00 1 11[]

==fa&&child>=2)//(1 ][] [][]
iscut/ul=true;

goooobbion

ug

gobooobooobboon

e IO OOODODOOODODODODODODODODO
e OO OOOUOULUUOOOUOUUUOOUOU
e JODOOOO

oo~y Lbooo-bbbbobo
obooobbooobboonobog

e OO OOOODOOODOODODODODODODO
e LIUOOLOOOOOLOOOOODODOODODODON
e JODODOO

oo~y bLooo-bbbbobo

goon

gd-ggdddguoooogodg

e JODODOUOOODDOO-ODODOO
e IOOOOOOOOODOOODODOODOODODODODODODODO
e OO OOOODOODODODODODODDODODO

O00-0000000000000000 $\text{dfs}s 00000000 $\text{dfs}$s 0000000
goooooo

0000000000000 00000000000000000000000000000
$0(n+m)$[

oo UUUU o

int low|[MAXN|,dfs id[MAXN|,dfs t,bcc id/MAXN|,bcc cnt;
vector<int> bcc|[MAXN;

stack<pair<int,int> >Stack;

bool iscut[MAXN];

void dfs(int u,int fa
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low/u|=dfs idlu|=++dfs t;
int child=0;
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
v==fa ;
ldfs idlv
Stack.push(make pair(u,v));
dfs(v,u);
low/u!=min(low|ul,low|[Vv]);
low|v|>=dfs idlu
iscut/ul/=true;
pair<int,int> temp;
bccl++bcc_cnt!.clear();
true
temp=Stack.top();Stack.pop();
bcc id/ temp.first]|!=bcc cnt
bcc_id[temp.first|=bcc cnt;
bccibcc cnt].push back(temp.first);

bcc _id[temp.second]!=bcc cnt
bcc id|temp.second|=bcc cnt;
bcclbcc cnt].push back(temp.second);

temp. first==u&&temp.second==v

’

child++;

dfs id[v/<dfs id|u
Stack.push(make pair(u,v));
low/u/=min(low|/ul,dfs idiv!|);

u==fa&&child<
iscut/u|=false;

void find bcc(int n
mem(dfs id,0);
mem(iscut,0);
mem(bcc_id,0);
dfs t=bcc cnt=0;
_rep(i,1,n

ldfs id[1i
dfs(i,i);
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const int MAXN= , MAXM= :

struct Edge
int to,next;

edge MAXM<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|.next=head|u];
edge/edge cnt].to=v;
head|u/=edge cnt;

int low/MAXN!,dfs id[MAXN|,dfs t,bcc id/MAXN|,bcc cnt;
vector<int> bcc[MAXN];

stack<pair<int,int> >Stack;

bool iscut[MAXN];

void dfs(int u,int fa
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low/u|=dfs id[u|=++dfs t;
int child=0;
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
v==fa ;
ldfs idlv
Stack.push(make pair(u,v));
dfs(v,u);
low/u/=min(low|ul,low[Vv]);
low|v|>=dfs id[u
iscut/ul=true;
pair<int,int> temp;
bccl++bcc_cnt!.clear();
true
temp=Stack.top();Stack.pop();
bcc id/ temp.first|!=bcc cnt
bcc_id[temp.first|=bcc _cnt;
bccibcc cnt].push back(temp.first);

bcc _id|temp.second]!=bcc cnt
bcc id| temp.second|=bcc cnt;
bcclbcc cnt].push back(temp.second);

temp. first==u&&temp.second==

’

child++;

dfs id[v/<dfs idlu
Stack.push(make pair(u,v));
low/ u/=min(low|ul,dfs idiv]);

u==fa&&child<
iscut/u|=false;

void find bcc(int n
mem(dfs id,0);
mem(iscut,0);
mem(bcc_id,0);
dfs t=bcc cnt=0;
_rep(i,1,n

ldfs id[1i
dfs(i,i);

int main

int kase=0,n,m,u,Vv;
m=read int
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n=0,edge cnt=0;
mem(head,0) ;
m--
u=read int(),v=read int();
n=max(n,u),n=max(n,v);
Insert(u,v);
Insert(v,u);

find bcc(n);
int ansl=0;
unsigned long long ans2=1;
_rep(i,1,bcc cnt
int cnt=0;
_for(j,0,bccli].size
iscut/bccli]|]j

cnt++;

cnt==
ansl++,ans2*=bcc|i].size()-1;

Cn ——
ansl+=2,ans2*=bcc(il.size()*(bccli].size()-1)/2;
_rep(i,1,n

I'bcc_id[1i

ansl++;

printf("Case %d: %d %Lllu\n",++kase,ansl,ans2);

a2
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000000000000 0000000000000000000000000000a0
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00000000 8000000000000 O@E oD oDOoooOoooDOooDoOoOon)

O00$1$000000000 $\text{dpHu)$ 000 $1$000000000000C0O0O0O $u$s000O0
sus 0000000 0DOO0O

O0 $\text{dpHu)$O0O0O0 $u$ 00 00000C0O0O0O0O0O0O0O0O0O0O0O0O00O00O00O0OOO $u$s00O0OO
Oo0ooooo $vsg

000000000000 $v$000000 $v$000000000 $vwousDOODOODO
$\text{dp}(u)\gets \text{dp}(v)$[]

000000000oOoOooo $v$s000o0o0oDoOD0ODDOD0ODO $suvtov$ OO0 O0OO0OOOOoOoOo
$\text{dp}(u)\gets \text{dp}(v)$Q

000000000000ooooOo $v$s00O0OD0OODOODODOD0ODO $u$s 0000000000 $v$
o0 $u$[]

0000 $v$ 0000000 $u$u O $v$ 000000 $us 000000 $v,usoooonoooa
00000 $dp(v)-w(u,v)$0

OOo0DOooooooogn $dp(u)=\max(0,dp(v)-w(u,v))$

000000000 $0M$s000$Ns000000000D0O00O0D00O0O0O00 $\text{dp}s$d
000000000000 $u$fsvs 0 sus 00000

00000 $v$0OSus 000000000000 $u$s 00000 ooOo $v$soonoooooooon
O0000 sus000oo $v$sooonoooooon

0000 $\text{dfs}$ 00000000000000 $0(n)$[

const int MAXN=3e5+5;

struct Edge
int from,to,id, next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v,int idx
edge| ++edge cnt|=Edge{u,v,idx,head|u]};
head|u!=edge cnt;

int low/MAXN|,dfs id/MAXN|,dfs t,bcc id[MAXN|,bcc sp/MAXN|,bcc cnt;
bool is bridge|[MAXN];

LL bcc v[MAXN|,dp MAXN!|,ans|MAXN;

vector<int> bcc|[MAXN];
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vector<pair<int,int> >g/MAXN];
int k,c[MAXN!,node sp[MAXN|,edge w/ MAXN];
void dfs(int u,int fa
low/u/=dfs id|u|=++dfs t;
int i=head(u];i;i=edge[i].next
int v=edge([i].to;
v==fa ;
ldfs idlv
dfs(v,u);
low/ u!=min(low|ul,low[Vv]);
low/v/>dfs id|u
is bridgeledgeli].id|=true;

low/u/=min(low(u],dfs idiv]|);

void dfs 2(int u,int fa
bcc idlul=bcc cnt;
bcc vibcc cntl+=clul;
bcc splbcc cnt]+=node splul;
bcclbcc cnt].push back(u);
int i=head(u];i;i=edge[i].next
is bridgeledgeli].id ;
int v=edgel[i].to;
==fa||bcc_id|v ;
dfs 2(v,u);

void get bcc(int n

dfs(1,1);
_rep(i,1,n
Ibcc idl1i
bcc_cnt++;
dfs 2(i,1);

_rep(i,1,edge cnt
is bridgeledgeli].id
int u=bcc _id|edge(i!.from|,v=bcc id|/edgeli!.to];
glul.push back(make pair(v,edge w/ edgeli].id ;

void update edge(int u,int v,int d,int w
LL t=dplv];
bcc splv|=0&&bcc splvi<k
t=max (OLL,dp/Vv]-w);
dplul+=d*t;
bcc splul+=d*bcc _splv!;
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void dp 1(int u,int fa
dplul=bcc viul;
_for(i,0,glul.size
int v=glu][i].first,w=glu][i].second;
v==fa :
dp 1(v,u);
update edge(u,v,1,w);

void dp 2(int u,int fa
ans/ul/=dplul;
_for(i,0,glul.size
int v=glul[i].first,w=glu][1i].second;

v==fa ;
update edge(u,v,-1,w);
update edge(v,u,l,w);
dp 2(v,u);
update edge(v,u,-1,w);

update edge(u,v,1,w);

int main

int n,m,u,v;
n=read int(),m=read int(),k=read int();

_rep(i,1,k

node splread int()|=1;
_rep(i,1,n

clil=read int();
_rep(i,1l,m

edge w/il=read int();
_rep(i,1l,m

u=read int(),v=read int();
Insert(u,v,i);Insert(v,u,i);

get bccin);
dp 1(1,1);
dp 2(1,1);
_rep(i,1,n
space(ans|/bcc id[1i ;

.
’

ogooooon

EEERERN

00 $\text{dfs}$ 000000 0$\text{dfs}$ D0 000000000
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int dfs id/MAXN], low|/MAXN|,dfs t,scc id/MAXN|,scc cnt;
vector<int> scc|/MAXN];
stack<int>Stack;
void dfs(int u
low/ u/=dfs id|u|=++dfs t;
Stack.push(u);
int i=head|u];i;i=edge[i].next
int v=edgel[i].to;
ldfs idlv
dfs(v);
low ul=min(low/ul,low|v]);//011[][]

Iscc_id[v])/0000O0O
low/u/=min(low|/ul,dfs idiv]);

low u/==dfs id[u
int temp;
scc[++scc_cnt].clear();
true
temp=Stack.top();Stack.pop();
scc_id[temp/=scc cnt;
scclscc _cnt].push back(temp);
temp==u

’

void find scc(int n
mem(dfs id,0);
mem(scc_id,0);
dfs t=scc _cnt=0;
_rep(i,1,n

ldfs id[i
dfs(i);

ug
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$\text{2-SAT}$ O O

goon

0000000 $(\neg)x_itext{ opt }(\neg)x j$ 0000000000

00 $xi$ 0000000 $\text{opt}$ 000000000

0000

000 $xi$ 00 $y {21}$ 0 $y {2i+1}$ 000000 $y {2i}$ 00 $xis 000 %y {2i+1}$ 00
$x i$ 000

000 $x$ 0000 $y$0000 $y$0 000000000000 0000

$$ \begin{equation} x_i\lor x_j\iff {y'}_i\toy_j,y_i\to {y'} j\\ x_i\oplus x_j\iff {y'}_i\toy j,y _j\to
{y'} i,y _ivto {y'} j.{y'} j\toy i\ x_i\iff {y'} i\toy_ i\end{equation} $$

0000 $\text{Tarjan}$ 0 OO0 O000D0O0ODOOO0ODOCOOO $y$0sy's0oopooooooooOO
googd

00000000 $y$0sy's 000 00000DO0O0OO0O0ODO0O0O0O0O $\text{Tarjan}s 0O OO0
O0O00O0ooogg $0(n+m)s

bool query(int n
_rep(i,1,n
scc id[i<<l]|==scc id[i<<l|
false;

Bool[i]=scc id[i<<l]>scc id[i<<l1]|1];

true;

g

UVA1391

RN

000000000 $n$ 0000000000000 0 $x$000 $3¢000000DO0O0OO0OODODO
ERERERN

0000000 $x$000000000 $A$0000000 $x$000000000 $B$00O0 D00
000000 $C$
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0000000000000 000 $x i=trues 0000000 $A$00000ODO0O $Cs0
0000000000000 00 $xi=true$ 0000000 $B$0O OO O OO $C$7
0000000000000 0000000000 $x$00000000 $x_i\oplus x_j$0

0000000000000 0000000 $Cs00D0000 $x_iNlor x_j$0

const int MAXN=2e5+5,MAXM=1e5+5;

struct Edge
int to,next;

edge [ MAXM<<2 |;

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|.next=head|u];
edge|edge cnt].to=v;
head|u!=edge cnt;

int dfs _id/MAXN|, low|[MAXN|,dfs t,scc id/MAXN|,scc cnt;
vector<int> scc/MAXN];
stack<int>Stack;
void dfs(int u
low/u/=dfs id|u|=++dfs_t;
Stack.push(u);
int i=head|u];i;i=edge[i].next
int v=edgel[i].to;
ldfs idlv
dfs(v);
low|/u/=min(low|ul,low(v]);

I'scc id|v
low/ul=min(low/u],dfs id(v]);

low u/==dfs id[u
int temp;
sccl++scc_cnt].clear();
true
temp=Stack.top();Stack.pop();
scc_id[temp|=scc_cnt;
scclscc_cnt].push back(temp);
temp==u

’
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void find scc(int n
mem(dfs id,0);
mem(scc_id,0);
dfs t=scc cnt=0;
_rep(i,1,n

ldfs id[1i
dfs(i);

bool Bool[MAXN!,type MAXN];
bool query(int n
_rep(i,1,n
scc_id[i<<l]|==scc_id|i<<I|
false;

Bool|i|=scc_idli<<l]|>scc id|i<<
true;

int Age[MAXN];
int main

int n,m,u,v;
~scanf ("%d%d",&n, &m

n==0&&m==
mem(head, 0);edge cnt=0;
int s=0;
_rep(i,1,n
Agelil=read int(),s+=Ageli];
_rep(i,1,n
typelil=(Age|i|*n>=s);

m--
u=read _int();
v=read int();

typelul==typelv
Insert(u<<l,v<<l|1);

Insert(v<<l|1l,u<<l);
Insert(v<<l,u<<l|1l);
Insert(u<<l|1,v<<l);

Insert(u<<l,v<<l|1);
Insert(v<<l,u<<l|1l);

find sccin<<l);
query(n
_rep(i,1,n
Bool|i
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typeli
puts("A");
puts("B");
putS ||C|| ;

puts("“No solution");
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